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	using System;
/*
Your Strategy Challenge:
========================
You have 4 strategies to reach Airport from your office.
1) By Bus
2) By Taxi
3) By Train
4) Walking

Basically there 2 criteria to determine which strategy the program will select:
1) Time
2) Cost

Write a program to use Strategy Pattern. In the program you will prompt the 
user about how important are those criteria, the program will select an 
adequate stratery for the task.
*/
namespace StrategyEx {
  class Context {
    //Context state
    static public IStrategy byBus = new ByBus();
    static public IStrategy byWalking = new ByWalking();
    static public IStrategy byTrain = new ByTrain();
    static public IStrategy byTaxi = new ByTaxi();

    //Strategy aggregation
    IStrategy strategy = null;
    public IStrategy Strategy {
      set {
        strategy = value;
      }
    }

    // Algorithm invokes a strategy method
    public void GotoAirport() {
      Console.Write("Going to airport ");
      strategy.Transportation(this);
    }
  }

  interface IStrategy {
    void Transportation(Context c);
  }

  class ByBus : IStrategy {
    public void Transportation(Context c) {
      Console.WriteLine("by Bus");
    }
  }
  class ByWalking : IStrategy {
    public void Transportation(Context c) {
      Console.WriteLine("by Walking");
    }
  }
  class ByTrain : IStrategy {
    public void Transportation(Context c) {
      Console.WriteLine("by Train");
    }
  }
  class ByTaxi : IStrategy {
    public void Transportation(Context c) {
      Console.WriteLine("by Taxi");
    }
  }

  class Program {
    static void Main(string[] args) {
      Console.Write("Are you in hurry?>>[Y/n]");
      bool time = Console.ReadLine().ToUpper() == "Y";
      Console.Write("Is cost is you concern?>>[Y/n]");
      bool cost = Console.ReadLine().ToUpper() == "Y";
      //Ask from the user about cost and time
      Context Trip = new Context();
      if (cost) {//I am poor
        if (time) {//I am in hurry
          Trip.Strategy = Context.byBus;
        } else {
          Trip.Strategy = Context.byWalking;
        }
      } else {//Money is not my concern
        if (time) {//I am in hurry
          Trip.Strategy = Context.byTaxi;
        } else {
          Trip.Strategy = Context.byTrain;
        }
      }
      Trip.GotoAirport();
      Console.WriteLine();
      Console.ReadKey();
    }
  }
}
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